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GENERAL INSTRUCTIONS IN EXAMINATION HALL
A. General : 3. A :
1. This Question Paper contains 80 questions. Please check | 1. 39 Je3-UF ¥ 80 TR & | Ul UAEN T& & & Usel Wird of | 59

before starting to attempt. The question paper consists Two
Sections. Section-A (Conceptual Section) & Section-B
(Brilliance Section). In Section-A, 5 parts, Chemistry (1 to 10),
Biology (21 to 30), Physics (21 to 30), Maths (31 to 45), Mental
Ability (46 to 60) and In Section-B, 4 parts, Chemistry (61 to
65), Biology (66 to 70), Physics (71 to 75),Maths (76 to 80).

Y- H QT OO T| QIS (uIRe @re) T |ue—q (Ifm
TUe) | WUs H, U™ 4T §9 UGR AEE fOEM (1 ¥ 10),
Sha fag (11§ 20), e R@EE (21 ¥ 30), MG (1 F 45)
AFRYG | ARIAT (46 & 60) TN WoSd H IR URT $H UHR 3+
R fasi (61 ¥ 65), i fasiH (66 ¥ 70), Wi fasm (71 ¥ 75)
I (76 X 80)

2. Space is provided within question paper for rough work | 2. 3% ®& &9 & foay Te-u3 d§ & @F & ™1 g o
hence no additional sheets will be provided. AfRed w7 | 313 de a1 YR 8 7 s |

3. Blank paper, clipboard, log tables, calculators, cellular | 3. TTell SRS, TN, AHI0TH HRON, Bodeic, Al B UG fHdl
phones and electronic gadgets in any form are not allowed N PR B soraife Iore TNET Bl § A aftd ¥
inside the examination hall.

4. The answer sheet, a machine-gradable Objective | 4. ST . Sffeifded YA dfic @NeRTA) o & 79
Response Sheet (ORS), is provided separately. RISl SIQ), 37T 9§ UeH & T8 2|

5. Do not Tamper / mutilate the ORS or this booklet. 5. MNIRTA. AT T Pl A W TR A bic—BIc I AS T8 |

6. Do not break the seals of the question-paper booklet before | 6. Te5—T=1 @1 Wt d9 qPb =&l Wil ol dd (b (NIEd gRI
instructed to do so by the invigilators. e 7181 Ry oy |

7.  SUBMIT the ORS to the invigilator after completing the test | 7. TeT FAT 8 & 1€ SMIARTH. e FRIed I AU qen
& take away the test paper with you. Y9131 309 1 o N |

8. Any student found/reported using unfair means to improve histher | & IR} @ el wer ¥ 36 dem @ forg g e & JAFT Fll
performance in the test, shall be disqualified from STaRT-2018. T TR 1 AR e fbar TR o 98 STaRT-2018 & o 3Rk BrT |

B. How to fill Objective Response Sheet (ORS) for filling | 4. 3if<ifdca ™= e (MNRTA) A [Tew g SR
details marking answers: Jifbd e & forw A1 ydR W :

9. Use only HB Pencil for filling the ORS. Do not use Gelllnk/Felt | 9. 3MIRYA. W & foIw Hgd HB URAeT &1 & WIFT H |
pen as it might smudge the ORS. STel /T8l /Wee U TaNT T8 X |

10. Write your STaRT-2018 Student Registration No. in the | 10.3mF1 STaRT-2018 f3emell ORI HHidb MIIRTH, e & I B
boxes given at t_he top left corner of your ORS With F Ry Y R H Aol A Biet el W W | AT A B B AR
que/bIack_ ball point pen. Also, darken the corresponding ARy Ru T e BT A HB IR I T Y|
bubbles with HB Pencil only.

11. If any student does not fill histher STaRT-2018 Student | 11.af w3 faemeil amT STaRT-2018 fyemeft IR HHAIG
Registration No. correctly and properly, then hisfher ORS & Td &b I Y AE WA B Al S IMNIARTH. B
will not be checked/evaluated. Ah/qAifhd T8 fHan g |

12. Since it is not possible to erase and correct pen filled bubble, | 12.3M3RTA. # QU MU Tl ® IR TH IR dfcd U9 A &I
you are advised to be extremely careful while darken the foar S 2 @S9 fiemr wwa W€, gafoy faeneft o
bubble corresponding to your answer. Faddr ¥ 8 Wl T N |

13. Neither try to erase / rub / scratch the option nor make the | 133® IR {HHl f[Aded $ Tl B T A _$_d1& e a1
Cross (X)ymark on the option once fillez. Do not scribble @1 IS TE @R | AR, e R ) qwr & o,

op ' Tt A1 Ryerde 9 oM < &R 9 8 39 AR AT B |
smudge, cut, tear, or wrinkle the ORS. Do not put any stray
marks or whitener anywhere on the ORS.

14. If there is any discrepancy between the written data and the | 14. J1s bl §ed H folEd TT el F 3ffdd STHHRI H 3R

bubbled data in your ORS, the bubbled data will be taken as final. RN ﬁ; THI Bl A AT S
i i . ¥, T YR U4 31 JeH
C. Question paper format and Marking scheme : s i %E_i'q E G- e oTet 7R w8 A B T e

15.

SECTION-A: For each right answer you will be awarded 3 marks
if you darken the bubble corresponding to the correct answer and
zero marks if no bubble is darkened. In case of bubbling of
incorrect answer, minus one (—1) mark will be awarded.

16.

SECTION-B: For each right answer you will be awarded 6 marks
if you darken the bubble corresponding to the correct answer and
zero marks if no bubble is darkened. In case of bubbling of
incorrect answer, minus two (—2) mark will be awarded
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SECTION - A(CONCEPTUAL SECTION) 4r1-31 ( d=mfRe )
PART - | (PHYSICS) ¥m-| (Wifas fasm)
Straight Objective Type

This section contains (1-10) multiple choice questions. Each question has
choices (A), (B), (C) and (D) out of which ONLY ONE is correct.

@AY g THR
9 9vs H (1-10) sg—Read usH 8| s ue & 4 fJwed (A), (B), (C) @2 (D) 8, o+ 4 e e

G
1. To calculate mechanical advantage divide the resistance force by the :

(A) Friction (B) Ideal mechanical advantage

(C) Work (D) Effort force

TIE A & OET B B U RIS g1 b1 foa o fawrird si—

(A) =¥ (B) arreel Iifyd o

(C) ®1d (D) W 9
2. The S.I. unit of force is :

(A) erg (B) joule (C) newton (D) dyne

A BT S.I. AFS B

(A) ot (B) It (C) e (D) ST
3. At the centre of a magnet, magnetism is :

(A) Maximum (B) Minimum (C) Zero (D) Infinite

THEH B AT H gEadhed BT §

(A) siferepH (B) =LA (C) =z (D) e
4. Light year is a unit of :

(A) Distance (B) Light Energy (C) Time (D) Mass

THTe ay :

(A) 2 Bt (B) BT ol b (C) |95 &1 (D) A DI
5. A force applied to a machine to do mechanical work is called :

(A) Effort (B) Load (C) Efficiency (D) Output

wéw B B B forg TR T T 9 HEA & —

(A) T (B) IR (C) eran (D) ffa
6. Varun is the Indian name of the :

(A) Pluto _ (B) Jupiter (C) Uranus (D) Neptune

geul = A 9 59 W8 & IRAE 9§ —

(A) w1 (B) Sffex (©) T (D) o=
7. The unit of electric current is

A) Coulomb (B) Joule (C) Newton (D) Ampere

gRT bl HITD % :

(A) e (B) S (C) e (D) vFazR

8. In a uniform motion :

(A) Average speed is more than actual speed. (B) The object is moving along circular track.
(C) The object is moving with a constant speed. (D) Speed is variable

Th :
(A) 3 T, IRAAD ol | b BN (B) ®U1 aciig 9l H 0 &R & &
(C) axg faa =rat &1 Ify o 2 (D) a1 uRafdd it 2
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When a switch is in ON position, then

(A) The circuit from the negative terminal to the positive terminal of the battery is complete.
(B) The circuit from the positive terminal to the negative terminal of the battery is incomplete.
(C) The circuit is known as the open circuit.

(D) None of these

59 uRyer § g 4 B 99 ¢

(A) 519 TRYY 3 9 &1 FoTHS RR I gTs RIRT 91 2

(B) 5@ uRuer 3 §e &1 g RRT oS RIR 4 81 ST 8

(C) uRur ger uRuer wealrarl @

(D) $ & ®Ig e

Friction forces act :

(A) In the direction of applied force

(B) In the direction of the motion

(C) In the direction opposite to the direction of relative motion

(D) In a direction perpendicular to the direction of motion

YU g oIl § —

(A) R faem & 91 &1 &1 & (B) Wiy @ feem |

(C) \muer Tify o fausia faem # (D) vy @ faem & Seafer
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PART - Il (BIOLOGY) ¥ Il (Sha fasi)

Straight Objective Type
This section contains (11-20) multiple choice questions. Each question has
choices (A), (B), (C) and (D) out of which ONLY ONE is correct.

Y g TR
39 @ve ¥ (11-20) S5-I es 21 udF 9 & 4 Q@ (A), (B), (C) @2 (D) 2, o & e
TP WE T |

11.

12.

13.

14.

15.

16.

17.

Lentil is a/an :

(A) edible mushroom. (B) animal product. (C) bacterium. (D) plant product.
TR B T B

(A) @ AT ah (B) g SIS (C) Sirary ((D)RIEERSRIE
Humerus bone is found in

(A) thigh (B) shank (C) upper arm (D) lower arm
TR IR UTE T B |

(A) STrg (B)T& # (C) ST o | (D) frretl g 4,
Total number of bones in the body of man is

(A) 28 (B) 206 (C) 108 (D) 218

AT H el TRerd urg ol B |

(A) 28 (B) 206 (C) 108 (D) 218

Which trait is not helpful to a fish in adaptation ?

(A) Streamlined body (B) Large pupils of the eyes

(C) Gills (D) Beautiful colour of the body

=1 5 9§ DI eI Aefor™l & Sidme H WEIdl el dRdl & |

(A) IRRRgT IR (B) 3@l @1 g1 gafert

() frew (D) ¥R BT F=x

Ogranisms that live on trees are called

(A) arial (B) arboreal (C) terrestrial (D) aquatic

Sieg Sl {6 UST WR YEd &, HEA § —

(A) T (B) d&fig (C) W™ (D) Sielrg
Xerophytes have long roots

(A) due to light (B) to give mechanical support

(C) to draw water from deep water beds (D) none of the above

YDIGAE B T IS Bl § —

(A) BT & BRI (B) Tif® HERT Ua™ & & forg

(C) et ST ATl & el Wigd & forg (D) SWRIFd H & BIg el

Oily covering and air spaces in leaves is an adaptation of

(A) aquatic plants (B) xeric plants (C) mesophytic plants (D) none of these

giRrdl ¥ 91y B d Tl UR IghHAT o
(A) STergg urey (B) ThIgMAg urey (C) \AIgfIg UIey (D) SIRIAT H | PIg el

/\
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Which of the following statement is true about the habitat ?

(A) Itis a place where conditions for the existence of an organism occur.
(B) It includes both biotic and abiotic compounds

(C) Represents the address of an organism

(D) All are correct

71 % 9§ B U AN & fog | B

(A) T8 98 WIF 8, S8l Silad & SR &l F41 JTaeqy 8l & |
(B) 39 Wfd® vd amifas <H1 i & €

(C) 7' Sig @I IuRARY 1 yeRid w=an & |

(D) & W& B |

Green plants are

(A) primary producers. (B) primary consumers.
(C) secondary consumers. (D) tertiary consumers.
W Ry B

(A) Tafie SRS (B) Wiaifid U (SREGIRASECIES] (D) T UM

Adaptations occur in nature due to

(A) conscious effort by an organism

(B) use and disuse of an organ

(C) changes that take place in the genes of reproductive units
(D) homeostasis

UPfd H gdHe [hdd HRUT Bl & —
(A) STrEl & <= g (B) 3T &1 IUART T AJUANT BRI |
(C) S99 SHISAT & Sl # 89 dTel aRacd= (D) STRAfIHT

/\
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PART - IIl (CHEMISTRY) T |l (4R fasm)

Straight Objective Type
This section contains (21-30) multiple choice questions. Each question has
choices (A), (B), (C) and (D) out of which ONLY ONE is correct.

Y g TR
39 @ve ¥ (21-30) sg-fead yee 1 udF 9 & 4 R{aea (A), (B), (C) @2 (D) 2, o & R
TP 6 ¢

21.

22.

23.

24.

25.

26.

The method of sieving is used to separate a mixture containing

(A) butter and cream. (B) flour and sugar.

(C) coins of different sizes. (D) salt dissolved in water.
foa fAstor &1 vud R & fog s Ay &1 g fhar S g

(A) AR 3R B (B) 2TeT 3iR I

(D) fafi=1 e R & Riaw (D) U=l # gl g3 a9

Cotton is obtained from

(A) roots of the plant. (B) the bolls of the cotton plant.
(C) stem of the cotton plant. (D) leaves of the plant.

HYN 9T ot ® —

(A) TreT & STef | (B) BUT & Hg BT el

(C) ®UTE &1 Al (D) Urey &1 ufthat

The good conductor of electricity is :

(A) polythene. (B) dry wood. (C) silver. (D) glass.
=1 % & @ fag@ &1 81 AT ©
(A) dfefief= (B) g&! Tl (C) T (D) ®ia

A saturated solution can be prepared by mixing water with

(A) sand (B) salt (C) iron fillings (D) chalk powder
Faw faed 991 S Gddl ® S U9 e 9§ fed gt & ary fAldE R )R —
(A) Xd (B) & (C) Ai® @1 Bl (O EIEISER

Coconut fibres are used in making :

(A) sweaters (B) brushes (C) mattresses (D) clothes
RIS & I BT IUART 771 BT 99 H far ST Ahar ® —

(A) WX (B) s1=1 (C) T (D) B

The great variety of things around us are due to

(A) classification (B) diversity (C) proportion (D) complexity
AR IR R A= UdR & awg¢ 81 B IR § —

(A) TETHR (B) fafaeran (C) FHTUT (D) Sifeeran
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Dissolving sugar in water is an example of

(A) physical change (B) chemical change  (C) fast change (D) none of these
S H AN ®1 g e 7 J fedar I g ?
(A) Wi gRadH (B) I gRaad (C) g aRaaH (D) 3H & PIg =81

A windmill can perform which of the following function ?

(A) Generate electricity (B) Draw air from tube well

(C) Provide air to the organisms (D) Provide food to the organisms

g ] e A7 ¥ R B B A B —

(A) faega = (B) SIFIA | &A1 Haprer H

(C) |shal &1 arg Ue™ &3 H (D) |oidl ®I |Iod UeH &R H

The process of separation of a mixture of two solids based on the difference in their weights is
(A) hand-picking. (B) winnowing. (C) condensation. (D) sieving.

TEAM B AMUR W T ST BT 3l & &I fafd g —

(A) B1F F A (B) WedHl (C) wa=+ (D) BT

The process of making yarns from fibres is called :

(A) knitting (B) spinning (C) boiling point (D) melting point
R W YT 9 B ufhar dEe ¥ —
(A) gTE (B) Pra-t (C) FaT® (B) TTeAT T

/\
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PART - IV (MATHEMATICS) ¥R IV (31for)

Straight Objective Type
This section contains (31-45) multiple choice questions. Each question has
choices (A), (B), (C) and (D) out of which ONLY ONE is correct.

Y g TR
3 @ve ¥ (31-45) sg-fawad yed 21 S 9 & 4 R{aea (A), (B), (C) @2 (D) 2, o & e
TP WE T |

31.

32.

33.

34.

35.

36.

37.

38.

39.

Which of the following represent 277

71 % & DI 27 91 ySRid wRar ® 2

(A) XXVII (B) XVII (C) Vi (D) VIIX

Estimate the division by rounding each number to the nearest ten: 837 + 24

837 + 24 & YAP WA Pl &4 S MPHcad Ylid H Iaaid? IR S DISTY |

(A) 40 (B) 50 (C) 56 (D) 42

3 x10000 +4 x 1000 + 4 x 100

Given is the expanded Form. The number is

3 x 10000 +4 x1000 + 4 x 100

faeaa wu fean a2 | e grf

(A) 30440. (B) 34000. (C) 34400. (D) 34444

The smallest 6-digit number that can be formed by the digits 9, 6, 0, 5, 8, 1 is

9,6,0,5,8, 1% B: D B B RATH FEIT FAT ST AhA © |

(A) 0,15,689 (B) 1,05,689 (C) 5,01,689 (D) 9,86,510

On a track for remote-controlled racing cars, racing car A completes the track in 28 seconds, while
racing car B completes it in 24 seconds. If they both start at the same time, after how many seconds will
they be side by side again?

frefl oo 7 Rere ogial IRM FR & 3 §, R A 28 WHvsS H [H Idh: G Tl 8, 9dfds HR B 24
JPpUs ¥ | A SHl PR TP & FHY R G0 BIcll &, dl fba F9g 91€  Teb gk ¥ fyeitd 2

(A) 168 (B) 170 (C) 166 (D) 182

What percentage of 240 is 90 ?

90, 240 &1 a1 ufcrerd g 2

(A) 37.5% (B) 40 % (C) 35.5 % (D) 39.5 %
912 +22 =
(A) 45.99 (B) 41.41 (C) 41.45 (D) 71.75

You need to get to class, 300 meters away, and you can only walk in the hallways at about 1.5 m/s. (if
you run any faster, you'll be caught for running). How much time will it take to get to your class?
(A) 250 sec (B) 200sec (C) 300sec (D) 350sec

AU FefT dF S & forg, S fF 300 Wex @ O W 2| MY dadl 1.5 m/s B IHAR ¥ B A & S
AP B (S SITH IHAR TR 3T s SIRIA). ATIDR] Beql qPh Ugd H bl F9I RET 2

(A) 250 THTS (B) 200 HHUS (C) 300 T&HTS (D) 350 |&HTS
An exact location in space is called a

(A) ray (B) point (C) line segment (D) plane
aiaRer # el <o fa9ry & ®ed 2 |

(A) fzor (B) fog (C) X1 Wug (D) HHTA

/\
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41.
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44.

45.
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Meena is pasting pieces of square coloured paper of equal size onto a board measuring 72 cm by 90
cm. If only whole square pieces are used, and the board is to be completely covered, find the largest
possible length of the side of each square coloured paper.

(A) 14 cm (B) 18 cm (C)20cm (D) 16 cm

AFT TP 72 . x 90 WAL & dIe W, TN BN A a9 8Y U WA dNBR Chsl DI Ul I8! & | IS
FHad oi 9 THsi BT & TN A S, SR a1 |l gl w9 4 9R_1 S, A1 JAd JIDHR F0H HITSl B
Ifrmas |wifad qor @ oS BRf ?

(A) 14 cm (B) 18 cm (C)20cm (D) 16 cm

0.848 kg toffees were shared equally by 6 boys.Find the share of each boy?
0.848 fun. SfH Bl B: ASH! H SRIER AT H 9] T | TAd Tsd Hl Ao B sa &y ?
(A) 0.014134 kg (B) 0.141034 kg (C) 0.104134 kg (D) 0.14134 kg

In a competition, an athlete threw a flying disk 169 meters through the air. While in flight, the disk
traveled at an average speed of 13.0 m/s. How long did the disk remain in the air?
(A) 20 sec (B)15 sec (C) 13sec (D)18sec

T YRR H, Uo RIS I Fal HI a1 & ARIH ¥ 169 HIeR T Bohdl © | 841 H I & A
Tl DI A ATA 13.0 H/A. § | Tl g1 H bl &% I8 § ?
(A) 20 IHTS (B)15 HHTS (C) 13 ABHvs (D)18 AHTS

Find the perimeter (in cm) of the following shapes if side of one square = 1cm.

/T arrasell @1 aRHATT (JE0. H) A1 BRI, AT URhD a9 B Yol = LHHL B |

(A) 15 cm (J1) (B) 16 cm (J#1) (C) 17 cm(3) (D) 20 cm(JHY)
Convert 2 ¢ 35 m/ into millilitre:

(A) 2035 m/¢ (B) 20035 m¢ (C) 0235 m/ (D) 235 m/
2 oM. 35 #Wiell. B Hietletlex # aqeiy |

(A) 2035 refl. (B) 20035 refl. (C) 0235 #Tefl. (D) 235 #refl.
For the set of whole numbers, closure property is satisfied under

(A) addition and subtraction. (B) addition and division.

(C) addition and multiplication. (D) multiplication and division.

9ol S B GHE H Had qUIEH A T 1 B |

(A) IFT 9 TeE (B) AT @ ¥

(C)ArT 9 o= (D) U G W
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PART - V (MENTAL ABILITY) ¥RV (AR dre)

Straight Objective Type
This section contains (46-60) multiple choice questions. Each question has
choices (A), (B), (C) and (D) out of which ONLY ONE is correct.
@AY g ToR
39 @Ue ¥ (46-60) sg—fIwad e 1 udF U & 4 R{aea (A), (B), (C) @en (D) 2, o & e
TP T ¢

46.

47.

48.

49.

50.

51.

52.

Directions : (46 to 48) Find the missing term(s) —
fAdw @ (469 48) W U= oG BNV -

7,9,13,217?
(A) 30 (B) 32 (C) 35 (D) 37
Y! WY UY S’ QY ?1 ?

(A) NJ (B) ML (C) JR (D) OM

25 15 28 10 27 35

(A) 20 (B) 25 (C) 30 (D) 38
In a certain code, MADRAS is coded as NBESBT. How BOMBAY coded in that code ?
MADRAS &1 didfad A1eT § NBESBT g§RT ke fhar T 8| $0) Aidfad 99T § BOMBAY &1 Udhc

B Bl fdhed gy —
(A) CPNCBX (B) CPNCBZ (C) CPOCBZ (D) CQOCBZ

How many parallelograms are there in the figure given below ?

T fay U o § 9o ISl @ @@ §@1d S |

Ty

(A) 15 (B) 16 (C) 18 (D) 17

Direction : (51) In the following question, find which one word cannot be made from the letters of the
given word.

fAdw : (51) FrafoRad gea & 91 & & T ™ s @ AR A AFhcd 1 -1 G T8 99 Dbl
gl

UNCOMMANDED

(A) MACRON (B) AMEND (C) DEAD (D) COMMAND

Direction : (52) In the following question, there are four choices. Three of them are alike and form a
group, while one of them is different. Find the odd-man-out as directed.

fAder : (52) FrfalRad ue 9 IR fAden i W 2| 99 39 ThaA™ 8 d1 U 998 &1 A0 $-d
2| 9afe STH 9 U A 21 99 = fAees &1 fdemgar it |

(A) Triangle (%[ﬁ?rl) (B) Square (a) (C) Circle (a<) (D) Rectangle (31mad)
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Direction : (53) Arrange the words in the sequence in which they occur in dictionary. Find out the
correct alternative and mark it on your answer- sheet.

A : (53) fFr=faRad ol &1 S0 8 & Fo¢ R 9 § J ISdY § A B U § 98 v Bi
T 3R S AU STR—IFH R AR 90 |

(1) Virtuous (2) Virulence (3) Viscous (4) Visionary

(A)1,2,34 (B) 2,1,3,4 (C)3,4,1,2 (D)4,1,2,3

What is the value of 2-[3 - {4 - (2-3)}] ?

2-[3-{4—-(2-23)}] FT 59 M BN |

(A) 4 (B) 13 (C) 19 (D) 6

Find the missing terms(s) (& U& STd &1 ) —

29, 34, 32, 37, 35, 40, ?
(A) 24 (B) 27 (C) 36 (D) 38

Anil left home and cycled 10 km Southwards, turned right and cycled 5 km & turned right and cycled 10
km and turned left and cycled 10 km. How many kilometres will he have to cycle to reach his home
straight ?

AT R 9§ A1sfdha RT 10 km feror f&en 5 Il 8, - geal 8 3R 5 km Il 8 % S gl ©
3R 10 km FIefdl 8 A1 91 gl & AR 10 km A1 2 | 3@ IH WY a0 370 BR yga & o1y e

fheiriier Arsfed g™ gg i ?

(A) 10 km (B) 15 km (C) 20 km (D) 25 km
‘Bird’ is related to ‘Nest’ in the same way as ‘Bees’ is related to )

(A) Aquarium (B) Hive (C) Aviary (D) Tree
‘gef} BT FrY 9 YR ‘HiEar 9 2| Sl ISR AgHaE B G A g————
(A) 7Bl TR (B) & (C) fafeamer (D) TS
‘Height’ is related to ‘Length’ in the same way as ‘Weight’ is related to {

(A) Length (B) Height (C) Mass (D) Breadth
SATs’ T UhR ‘18’ 9 IHId 8 SH UPR YR e awfa 8em ?

(A) ofFTE GEXIH (C) s KIS

Three of the following four are alike in a certain way and so form a group. Which is the one that does
not belong to that group ?

(A) Sun (B) Moon (C) Star (D) Universe

I W IR R H ¥ A9 B Uh a0 W FHEAET 2| 99 AR B 99 DI Sl 9 a1 A FqEd
e

(A) & (B) == (C) U= (D) 3TN I

Three of the following four are alike in a certain way and so form a group. Which is the one that does
not belong to that group ?

(A) listen (B) walk (C) run (D) swim

R T AR gl 79 A BN e 9 9 SEd B 99 AR B g9 DI ol 39 9 gHEd
TE B

(A) =T (B) TeT (C) dre (D) TR=T
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SECTION - B(BRILLIANCE SECTION) 4F1-9 (Ifa¥1 1)
PART - | (PHYSICS) 4| (iifds fasm)

Straight Objective Type
This section contains (61-65) multiple choice questions. Each question has
choices (A), (B), (C) and (D) out of which ONLY ONE is correct.

@Y g THR
9 @Us H (61-65) dg—fawmadl ued 2| U U & 4 fAwea (A), (B), (C) dn (D) g o 4 Rw
TP A 2|

61. C.G.S. unit of acceleration is :
TR B FH-TTH—HS Igfd § A © -
(A) ms= (B) cm s (C) ms? (D) cm s?
62. 1 calorie equals to :
1 P IRER B -
(A) 3.5 joule (B) 4.81 joule (C) 4.18 joule (D) 3.9 joule
63. The atmospheric pressure on our body is :
AR IRR R, IRYATSH T9 B
(A) 102NM-2 (B) 103NM2 (C) 105NM-2 (D) 10*NM-2
64. The earth has natural Satellite.
gedl & IUT & :
(A) Five (dra) (B) Two (3) (C) One T® (D) Four (I1R)
65. 1 dam is equal to :
(A) 10m (B) 1000 cm (0043) Both (A) and (B) (D) None of these
1SH SRR 8 —
(A) 10 . (B) 1000 3. (C (A) Td (B) g4 (D) 79 A P13 T2l
PART - Il (BIOLOGY) W1l (Sfta fasim=)
Straight Objective Type
This section contains (66-70) multiple choice questions. Each question has
choices (A), (B), (C) and (D) out of which ONLY ONE is correct.
Y g TeR
9 @vs # (66-70) 9g—fawmadl ued 2| U@ U & 4 fAawed (A), (B), (C) d2n (D) g, o 4 Rw
TP [ G
66. Starch is a kind of
(A) carbohydrate. (B) fat. (C) protein. (D) vitamin.
T (F98) Th UPR B |
(A) FrEEIRRS B (B) g41 &I (C) WA &1 (D) faerf® = @
67. Cabbage is a:
A § —
(A) stem (<) (B) fruit (Wet) (C) leaf (u<i) (D) flower (zeT)
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68. Glucose and fructose are :
(A) Minerals (B) Fats (C) Sugars (D) Proteins
DI Ud Haeiy § |
(A) TS oqur (B) g4t (C) TrdT (D) WEH
69. Starch is tested with the solution of :
(A) caustic soda. (B) salt. (C) HCI (D) iodine.
foa fafera &1 werIar 9 e & wRiefo fhar 51 |Jedr g |
(A) F1ReH AreT (B) <1qur (C) BZSIdAIR® 3Fd (D) marfes
70. Which of these is not a natural habitat ?
/1 § 9 P UThfad Smar T8 § ?
(A) Sea IR (B) Desert Fmvefe (C) Zoo fafsareR (D) Mountain Tdd
PART - lll (CHEMISTRY) T Il (X914 fasm)
Straight Objective Type
This section contains (71-75) multiple choice questions. Each question has
choices (A), (B), (C) and (D) out of which ONLY ONE is correct.
Y g TeR
9 @ve ¥ (71-75) sg-faowad ued 21 U 9 & 4 (e (A), (B), (C) @2 (D) 2, o & R
TP [ ©
71. Process of removing wool from a sheep is called
(A) Weaving. (B) Shearing. (C) Spinning. (D) Ginning.
TS A S U HA B fafd &1 wed 8 —
(A) g1g (B) SRl (C) Sra1 (D) %<1 &Il
72. The total water
(A) under the ground remains constant.
(B) in the seas and oceans of the world remains constant.
(C) in the rivers of the world remains constant.
(D) of the world remains constant.
el STl —
(A) 59 & Hra fra g (B) fdva & AR wd #AeNR # 94
(C) fawg & Afeat &1 foraq (D) faza &1 e 8
73. Study the given flowchart carefully e f&d I o @1 &9 & <Rey -

(P+Q+R) (P+Q) ®) ®

Solid 3 uaret
(R) (R)

What could be P, Q and R respectively ?”
P, Q @ R ¥l &1 81

Mixture Jiltration Solution EvagorationI Solid (ﬁgTR)ET_, ,a(;lﬁQ) m» 2 geref

(A) Chalk powder, Water, Sawdust (B) Salt, Water, Sugar

(C) Sugar, Water, Sawdust (D) Sawdust, Water, Sugar
(A) =T USSR, STed, SThS! DI gRIaT (B) T, ST, A=

(C) =1, ST, TSI Bl R (D) STPS! DI RIS, S, A1
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74. Which of the following will show lustre ?
(A) Wood (B) Gold (C) Copper (D) BothB & C
= & 9 fred aas B 8
(A) TFHS! (B) &I (C) arar (D) B3R C a1
75. The given figure shows the process of :
(A) evaporation (B) transpiration (C) condensation (D) None of these
(A) aTqIHROT GELRISNE (C) e (D) s & 3T &
PART - IV (MATHEMATICS) ¥TI- 1V (71fora)
Straight Objective Type
This section contains (76-80) multiple choice questions. Each question has
choices (A), (B), (C) and (D) out of which ONLY ONE is correct.
@AY g TR
9 @us H (76-60) dg—fawadl ued 2| u® U & 4 fdwaa (A), (B), (C) dar (D) g, o 4 Rw
Th WE T
76. How many 's are there in is 37?
e H U fean SuRera g ?
(A) 275 (B) 300 (C) 325 (D) None of these(37# A ®Ig &)
77. Which statement is true ?
(A) The sum of two negative integers is a positive integer.
(B) The sum of a negative integer and a positive integer is always a negative integer.
(C) The sum of two negative integers is a hegative integer.
(D) The sum of three different integers can never be zero.
DI AT BT TI 8 ?
(A) |1 FUTHEG QUITHT &1 AR U GAIHS OIS 2 |
(B) U RUMAS YUl 9 Ydh SIS YUlts &1 TIRT SHLM FONHD qUiidh 21T |
(C) &1 HTHS YUl & AN b FONHD YOTd I |
(D) N 3T qUIfch T ART H¥) I & &1 Fhall 2 |
78. Two students appeared in an examinaton. One of them scored 9 marks more than the other and his

marks were 56% of the sum of their marks. The marks obtained by them are.

a1 faenell 9 vep ulienm | wr foran | S 9 U faenedi 7 gy fdenedi 9§ 9 ofe Afde urw Y dur 99
3P, ITD AP B AN B 56% o | ITd §RT U 3 & °
(A) 39, 30 (B) 41, 32 (C) 42, 33 (D) 43, 34
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HrErgriai
8- |-

7th Edition

The Perimeter of a rectangle is the same as the Perimeter of the square of the side 9 cm, then the area
of the rectangle if its length 10 cm is .

U I BT IRA™, 9 I arel I & URHY & SRR B ol I_T BT AABA T BN IfS AT B

T 109 B ?
(A) 60 cm? (B) 70 cm? (C) 80 cm? (D) 90 cm?

Walking at the rate of 4 km/hr a man cover a certain distance in 2 hr 45 min, running at a speed of
16.5 km/hr the man will cover the same distance in

4 f&fi/a0e @ IHAR | T W UH Afdd o FRFd g w1 2 "uer 45 e § qu wxar 21 16.5
el /aveT B IHAR F Fe W A g B 98 Al o 97§ T PR ?
(A) 12 min (B) 25 min (C) 40 min (D) 60 min.

ANSWER KEY
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